Quiz I, F5360, Spring, 1996





Use the following information and the attached financial statements for Hewlett-Packard to answer questions 1 through 4.





Other information on Hewlett-Packard:





	1994	1993	1992


Depreciation & Amortization	1006	846	673


Common Stock Dividends Paid	280	228	183


Breakdown of Other Liabilities:


	Deferred Tax Liability	450	427


	Other	414	263


	Total Other Liabilities	864	690


Minimum lease payments:  ‘94 = 274, ‘95 = 157, ‘96 = 128, ‘97 = 96, ‘98 = 80, ‘99 = 50


Hewlett-Packard does not have any bad debt allowance and uses the FIFO inventory method.





1.  Calculate Hewlett-Packard’s operating cash flow for 1994.





2.  What does Hewlett-Packard’s fixed asset turnover and sales to asset ratios tell us about Hewlett-Packard?  The average fixed asset turnover for the industry is 6.24 and the average sales to asset ratio for the industry is 1.30.





3.  According to Stern, Stewart, & Co., Hewlett-Packard’s EVA for 1994 was negative $453 million and for 1993 was negative $497 million.  What does this reveal about Hewlett-Packard that their net earnings of $1.177 billion in 1993 and $1.599 billion in 1994 doesn’t?





4.  Fill in the following items on the EVA worksheet.


a.  Operating Capital for 1993:  Net Working Capital


b.  Financing Capital for 1993:  Total Debt


c.  Operating NOPAT for 1994:  Sales; and Increase in Deferred Revenues


d.  Financing NOPAT for 1994:  Total Interest Expense





Check Figures:





1.  3106


2.  STA in line w/ industry; FAT below industry => possiblities:  expanded in anticipation of additional growth, inefficient use of fixed assets, pursuing high margin, low volume strategy.  Need further analysis to determine which and also need trend analysis


3.  did not cover cost of capital => destroyed S/H wealth in both years.  Improvement may be due to cost cutting, investment in projects with return greater than cost of capital, decreased investment in projects with return less than cost of capital (2nd most likely given growth)


4.  not applicable








�



Hewlett-Packard Company and Subsidiaries 





Consolidated Statement of Earnings


- ------


For the years ended October 31


In millions except per share amounts                            1994             1993             1992                           


- ------------------------------------------------------------------------------------------------------


Net revenue:


    Equipment                                                $19,307          $15,533          $12,354


    Services                                                   5,684            4,784            4,056                           


                                                           -------------------------------------------


                                                              24,991           20,317           16,410                           


                                                           -------------------------------------------


Costs and expenses:


    Cost of equipment sold                                    11,572            8,929            6,625


    Cost of services                                           3,918            3,194            2,533


    Research and development                                   2,027            1,761            1,620


    Selling, general and administrative                        4,925            4,554            4,228                           


                                                           -------------------------------------------


                                                              22,442           18,438           15,006                           


                                                           -------------------------------------------


Earnings from operations                                       2,549            1,879            1,404


Interest income and other, net                                    29               25               17


Interest expense                                                 155              121               96                           


                                                           -------------------------------------------


Earnings before taxes and effect of 1992


   accounting change                                           2,423            1,783            1,325


Provision for taxes                                              824              606              444                           


                                                           -------------------------------------------





Earnings before effect of 1992 accounting change               1,599            1,177              881


Transition effect of 1992 accounting change, net


   of taxes                                                       --               --              332                           


                                                           -------------------------------------------


Net earnings                                                 $ 1,599           $1,177          $   549    


                                                           ===========================================


Earnings per share before effect of 1992


   accounting change                                           $6.14            $4.65            $3.49


Transition effect per share of 1992 accounting


   change, net of taxes                                           --               --             1.31                           


                                                           -------------------------------------------


Net earnings per share                                         $6.14            $4.65            $2.18    


                                                           ===========================================





�
                                     Hewlett-Packard Company and Subsidiaries





Consolidated Balance Sheet


- ------





October 31


In millions except par value and number of shares               1994                  1993                          


- ------------------------------------------------------------------------------------------


Assets


Current assets:


    Cash and cash equivalents                                $ 1,357               $   889


    Short-term investments                                     1,121                   755


    Accounts and notes receivable                              5,028                 4,208


    Inventories:


        Finished goods                                         2,466                 2,121


        Purchased parts and fabricated assemblies              1,807                 1,570


    Other current assets                                         730                   693                          


                                                           -------------------------------


        Total current assets                                  12,509                10,236                          


                                                           -------------------------------


Property, plant and equipment:


    Land                                                         508                   514


    Buildings and leasehold improvements                       3,472                 3,254


    Machinery and equipment                                    3,958                 3,759                          


                                                           -------------------------------


                                                               7,938                 7,527


    Accumulated depreciation                                  (3,610)               (3,347)                          


                                                           -------------------------------


                                                               4,328                 4,180


Long-term receivables and other assets                         2,730                 2,320                          


                                                           -------------------------------


                                                             $19,567               $16,736     


                                                            ==============================


Liabilities and shareholders' equity


Current liabilities:


    Notes payable and short-term borrowings                  $ 2,469               $ 2,190


    Accounts payable                                           1,466                 1,223


    Employee compensation and benefits                         1,256                 1,048


    Taxes on earnings                                          1,245                   922


    Deferred revenues                                            598                   507


    Other accrued liabilities                                  1,196                   978                          


                                                            ------------------------------


        Total current liabilities                              8,230                 6,868                          


                                                            ------------------------------


Long-term debt                                                   547                   667


Other liabilities                                                864                   690


Shareholders' equity:


    Preferred stock, $1 par value


    (authorized: 300,000,000 shares; issued: none)                --                    --


    Common stock and capital in excess of $1 par value


    (authorized: 600,000,000 shares; issued and outstanding:


    254,827,000 in 1994 and 252,713,000 in 1993)               1,033                   937


    Retained earnings                                          8,893                 7,574                          


                                                            ------------------------------


        Total shareholders' equity                             9,926                 8,511                          


                                                            ------------------------------


                                                             $19,567               $16,736


                                                            ==============================





�
Quiz II; F5360; Spring, 1996





1.   In preparation for this retirement, you plan to save $5000 one year from today and expect to increase your annual deposits by 4% per year.  If your 401k account earns 6% per year, how much will be in your account upon retirement 35 years from today?  (Assume you make a final deposit 35 years from today).





2.  You plan to purchase a bond that pays a coupon of $35 semiannually and that matures for $1000 five years and four months from today.  What is the most you should be willing to pay for this bond if you require a return of 9% per year?





3.  You have just purchased a house for $150,000.  In order to pay for this house, you have taken out a balloon loan in which you must make a payment of $90,000 seven years from today.  If the APR on the loan is 6%, how much are your monthly payments between one month from today and the balloon payment?





4.  Based on historical data over the past four years, the average rate of return on Forbes’ Stiffs Inc. (an undertaker firm in D.C.) is 9% and the standard deviation of returns on Forbes’ Stiffs is 10%.  Based on the following return data and assuming that historical returns provide a good estimate of future performance, is Forbes expected to earn a higher or lower return than Few Cannon Inc. (a firm that makes guns that fire early but fail quickly thereafter) and is Forbes’ risk higher or lower than Few Cannon’s if held by itself (in isolation)?





	Year	Return on Few Cannon


	1992	15%


	1993	-3%


	1994	29%


	1995	17%








Check Figures:





1.  934,999.45


2.  935.93


3.  1339.38


4.  Forbes has lower expected return (9 vs. 14.5) and lower risk (10 vs. 13.2035)





�
Quiz III; F5360; Spring, 1996





1. Assume your dad plans to invest $25,000 in Treasury securities for 5 years.  In glancing at the Wall Street Journal, he has noticed that the rate on a 1-year Treasury strip is 5.07% and that the rate on an 5-year Treasury strip is 5.57%.  Based on this information, he believes that it is obvious that he should invest in the higher return 5-year strip rather than a series of 1-year strips (by rolling them over when they mature).  Based on our discussion in class, explain to your dad why the choice is not so clear cut.





2.  Suppose the return on Buchanan Inc. (a firm that believes that if you ignore the rest of the world it isn’t really there) is 9% and that the standard deviation of returns on Buchanan is 35%, and that the return on Dole Slips Inc. (a firm that specializes in banana peal humor) is 15% and the standard deviation of returns on Dole is 13%.  Finally, assume that the return on T-bills is 5%.  Discuss and graphically demonstrate the conditions under which your optimal portfolio will contain some investment in Buchanan even though it has a lower return and higher risk than Dole.





3.  Based on the following historical return information and the fact that the return on T-bills is 5%, what is the required return on Gleeful Clinton Inc. (a firm that enjoys watching the other party drag itself through the mud)?





	Return on:


Year	Geeful	S&P500	T-bills


1992	29%	15%	6%


1993	-4%	23%	5%


1994	3%	-2%	4%


1995	45%	39%	5%





4.  Assume that the risk-free rate of return is 6.5% per year compounded continuously.  Assume also that the assets of Graham Folds Inc. (a firm where the messenger drowns out the message) have a current market value of $35 million and a standard deviation of returns of 42%. Graham is funded partially with equity and partially with debt.  What is the yield to maturity on this debt if it matures in 7 years for $52 million?





Check Figures:





1.  key points: according to inflation-risk hypothesis 5-year bond riskier (points for discussing why this is the case); according to expectations hypothesis simply reflects fact that s.t. rates expected to rise.


2.  key point:  invest in Buchanan if low correlation not if high correlation.  (points for graph and discussion of the graph).


3.  16.395%


4.  14.905%





�
Quiz IV; F5360; Spring, 1996





1.  Provide a short answer (sometimes even a single word) to each of the following:


a.  What is the joint hypothesis problem and why does it make tests of market efficiency difficult?


b.  Do corporate insiders appear to have private information that is not fully reflected in stock prices?


c.  What do we mean when we say that markets are too volatile and what does this imply for market efficiency?


d.  What does evidence suggest about whether daily stock returns can be predicted?





2.  Buchanan Blinders Inc. has just announced that it will be passing up a number of low risk, high net present value investments in favor of a number of highly risky ventures of uncertain net present value.  Buchanan has also announced that these projects will be funded entirely with an issue of zero-coupon debt that matures at the same time as Buchanan’s existing debt.  This debt will also have the same priority of claim as Buchanan’s existing debt.  Finally, Buchanan has also announced a substantial increase in the amount of dividends it intends to pay.





a.  If we were to evaluate the impact of this announcement on stockholders and bondholders using the Black-Scholes Option Pricing Model, which variables would change and how?


b.  As a bondholder, are you likely to be pleased by this announcement?


c.  Why?





3.  Suppose that the firm that you have recently founded has experienced great success and that you feel that you will need to hire additional employees if your firm is to continue to grow.  However, based on discussions that you remember from your corporate finance class, you realize that there may be agency problems related to these employees.  What costs can you expect to experience as a result of these agency problems and what is your goal with respect to these costs?





4.  Suppose you are convinced that markets are efficient.  How will your investment activity differ from someone in the class who believes that markets are inefficient?





Check Figures:





1.  a.  efficiency and equilibrium model; b. yes; c. prices more volatile than dividends, may imply inefficiency or nothing; d. can’t be


2.  a. V0 unclear, s increase, Dt increase, t and rf unchanged; b. no; c. S/H benefiting at B/H expense - increase in Dt dilutes claim, increase in s doesn’t help B/H since fixed claim but may hurt, if V0 falls, few assets available to satisfy B/H claims


3.  keys (points for detail) => contracting costs (establishing, opportunity costs, incentives), monitoring costs, costs from unresolved problems.


4.  keys (points for detail) => don’t collect info in attempt to earn excess returns, invest rather than speculate, use historical and public info only to reveal risk.





�
Quiz V; F5360; Spring, 1996





1.  Provide a short answer to each of the following:


a.  Suppose we are attempting to estimate the beta for a particular stock and have increased our sample size (by collecting data further back in time) in order to reduce small sample problems.  What problem may we have created for ourselves?


b.  What are opportunity costs and how do they affect capital budgeting decisions?


c.  What does payback tell us about a project?


d.  Under what conditions is a project’s profitability index useful?


e.  Suppose we are considering investing in one of two stocks.  After estimating the characteristic line for each, we notice that the R2 for one stock is 0.8 and that the R2 for the other stock is 0.5.  What does this tell us about the stocks?





2.  Dimtell Inc. (a firm that used to develop leading edge chip technology) is considering using what remains of its cash to open a string of discount retail stores (to be called 3D Stores -- which stands for Dimtell Discount & Drug).  Dimtell estimates that the cost to open these stores would be $200 million today and for each of the next 4 years.  Net cash flow (excluding any costs associated with opening the stores) would be $10 million one year from today, $50 million two years from today, then $130 million per year through 15 years from today.  Based on the following information and on the fact that the rate of return on T-bills is 4.5% and that the market risk premium is expected to be 6.8%, should Dimtell open the stores?


Company	Equity Beta	Debt Beta	% Debt in Capital Structure


Wally-Mart Discount Stores	1.2	0.3	40%


Texas Instrumental Chips	1.9	0.4	60%


Moat-Arola Technology (a chip maker)	1.5	0.5	45%


Off-Target Discount Stores	1.6	0.4	60%


J-Mart Discount Stores	1.1	0.2	30%


Needless Markup Luxury Stores	1.4	0.1	90%


AnySea Chips Inc.	1.2	0.2	10%





3.  The firm that you have recently gone to work for bases its capital budgeting decisions on internal rate of return, however, your boss (the Vice-President of Finance) is considering switching to Net Present Value.  What would you tell your boss if you were asked about your opinion on the switch.





4.  Assuming a tax rate of 34%, how would each of the following affect the cash flows used in a capital budgeting decision in year 0 and year 1?  For each part show your calculations and if a part has no impact on cash flows for a particular year, write “no impact” and explain why.


a.  Machinery associated with the plant will cost $100,000 and will fall into the 5 year depreciation class.


b.  A market analysis done last year cost $50,000 and is payable today.


c.  If the project is undertaken, net working capital associated with the new project will immediately rise to $20,000 and will rise to $35,000 by one year from today.





Check Figures:





1.  a. increased chance that true b has changed during observation period; b. foregone opportunity treated as cash outflow; c. # of years to recover initial investment; d. single-period capital rationing; e. greater % of 2nd stock’s risk is unique.


2.  don’t build since NPV = -31.55862 million


3.  problems with IRR:  may not increase wealth the most since ignores scale, penalizes l.t. projects, want lowest IRR if more like borrowing; multiple IRRs; no IRR; projects w/ different risk; non-constant required return; NPV has none of these problems and measures impact on value of firm


4.   a. CF0 = -100,000, CF1 = +6800; b. sunk; c. CF0 = -20,000; CF1 = -15,000


Quiz VI; F5360; Spring, 1996





1.  Provide a short answer to each of the following:





a.  What is a debenture?


b.  What does a trustee do?


c.  What are two ways in which preferred stock is like common stock?


d.  What is one indirect cost associated with issuing common stock via a cash offering?


e.  A firm has just registered and issue with the SEC and now has up to 2 years to issue the securities.  What type of offering is the firm involved in?





2.  Assume that congress has just passed a new tax code that eliminates the taxation of investment income whether interest, dividends, or capital gains.  Assume however, that congress maintained the tax deductibility of interest paid by corporations.  If firm’s behave in stockholder interests, how will the amount of debt in U.S. firm’s capital structure change?  Justify your answer.





3.  When Baylor Dances ? Inc. was initially founded, Baylor had tremendous growth opportunities and highly volatile cash flows.  However, as the firm has matured, growth opportunities have slowed and cash flows have become high and stable.  How should Baylor’s capital structure have changed over its life?  Justify your answer.





4.  Assume that due to downsizing by the Republicans, taxes are no longer needed to fund the federal government.  As a result, all taxes have been abolished.  Assume that the firm in which you own stock, Pssst Hey Boy Inc. (a firm that preys on prurient interests) has just announced that it plans to decrease its leverage by issuing stock and repurchasing all of its outstanding debt.  The firm currently has $5,000,000 in stock and $3,000,000 in debt.  You own $12,000 of the firm’s stock.  If you want to maintain the risk and level of your cash flows, what should you do?  





Check Figures:





1.  a.  unsecured debt; b. 3rd party that enforces debt contract; c. no maturity, dividends not tax deductible, lower claim than debt, no bankrupcty if don’t pay dividend; d. underpricing, announcement effect, diversion of management; e. shelf registration


2. increase; key => personal taxes reduce incentive to issue debt since higher personal taxes on debt income.  If investment income not taxed, disincentive gone so issue more debt to take advantage of corporate tax shield that still exists.


3.  increased; keys => less chance of financial distress so lower expected bankruptcy costs and less chance of not being able to deduct interest; helps resolve conflict with management who would be tempted to waste the high cash flows.


4.  borrow $7200 and invest $7200 in firm’s equity (points for showing that this is the case)





�
Quiz VII; F5360; Spring, 1996





1.  Provide a short answer to each of the following:


a.  Which comes first for particular dividend payment, the date of record or the ex-dividend date?


b.  What happens to each stockholder’s percentage ownership of a company if the company pays a 10% stock dividend (1 new share for every 10 owned)?


c.  What does empirical evidence suggest will happen to a firm’s stock price on an ex-dividend date?


d.  What does empirical evidence suggest will happen to stock prices if a firm announces that it plans to reduce its quarterly dividend from current levels?  Why?





2.  Assume that markets are perfect and that investors have homogeneous expectations.  Assume additionally  that Dull Dole’s Dwindling Support Inc.’s investment has been optimally fixed, that Dull cannot issue additional debt, and that any of Dull’s surplus cash has been paid out to stockholders.  Discuss the rationale of why Dull’s stockholders shouldn’t care whether or not Dull pays an additional dividend.





3.  Suppose Clinton Persona #436 Inc. generates $100,000 of cash over and above that which is needed to fund all positive NPV projects available to it.  Assume also that Clinton’s investors have a tax rate of 28% and that Clinton’s tax rate is 34%.  


a.  Assuming that management limits itself to actions that can reasonably be expected to benefit stockholders’ interests (burning the money would not, for example, qualify), what options are available to Clinton for this $100,000?


b.  Which of these options is best and why?








4.  Assume that Republicans Self-Destruct Inc. has 10,000 shares outstanding with a market value of $20 per share.  Newt Grinch owns 7000 shares and Dick Harmy owns 3000 shares.  Assume also that the firm has $40,000 in surplus cash that it plans to distribute to its stockholders by repurchasing shares at $40 per share.  Assume also that neither Newt nor Dick pay income taxes.


a.  Show that even if both Newt and Dick act rationally and in their own interest that a tender offer will result in a transfer of wealth between Newt and Dick.


b.  Show that if both Newt and Dick act rationally and in their own interest that a transferable put right will not result in a transfer of wealth.   (Note:  Assume that Republican issues one put for every share outstanding and that these puts expire immediately.  Assume also that both Newt and Dick exercise their own puts).





Hint:  To answer this question you will need to determine the following (and will receive partial credit for each):  What is the total value of Republican before repurchasing shares?  How many shares will be repurchased?  What will be the price per share after the repurchase?  What is the wealth of Newt and Dick before the repurchase?  How many shares will Newt and Dick sell back to Republican under a tender offer?  What is the wealth of Dick and Newt after the tender offer?  How many put rights must be surrendered with each share sold back to Republican?  How many shares will Newt and Dick sell back to Republican under the transferable put right repurchase?  What is the wealth of Newt and Dick after the put rights have been exercised?





Check Figures:


1.  a. ex-dividend; b. nothing; c. falls by less than dividend; d. falls/reveals management pessimism


2. key => must issue new stock => drop in stock price = dividend; can reinvest dividend


3. a. dividend, stock repurchase, incr. capital spending, acquire firms, purchase securities; b. unclear => higher taxes w/ dividend, IRS limits on repurchases, negative NPVs, expense of acquistions, securities simply defers disposal of excess cash


4.  Before:  Newt = 140,000, Dick = 60,000; After repurch:  Newt = 135,556, Dick = 64,444; After TPR:  Newt = 140,000, Dick = 60,000


�
Final Exam; F5360; Spring, 1996





1.  Suppose that in an effort to buy votes, both candidates for president have announced that in an attempt to protect investors and those saving for retirement, the U.S. government will from this day forward guarantee all corporate debt payments made by U.S. firms.  How will such a policy affect capital spending, capital structures, and dividends paid  by U.S. firms?


2.  As a stockholder, would you prefer that management compensation be tied to ROE, ROA, EPS, or EVA?  Why?


3.  Clinton Metamorphosis Inc. (CMI) is currently has assets worth $4,000,000 and zero-coupon debt that matures in 5 years for $6,000,000.  The current market value of that debt is $2,400,000.  CMI is considering whether to undertake an expansion that has an estimated NPV of $200,000 and which would lower the standard deviation of returns on CMI’s assets to 48%.  If the project is funded with internal funds (cash) and the risk-free rate is 4.9% per year compounded continuously, will CMI stockholders be in favor of undertaking the project?


4.  Based on everything  we have studied in this class, explain your findings in #3.


5.  Suppose you are convinced that markets are inefficient.  How will your behavior differ as an investor than if you believed that markets were efficient?


6.  In building new restaurants, Plenty’s Restaurant Inc. uses the beta of other restaurants that have been recently built as an estimate of the beta of the new restaurants.  Based on returns on newer stores over the past 4 years, what is your estimate of the beta of a new restaurant?


Year	Restaurants	S&P500


1992	22%	19%


1993	-3%	17%


1994	-2%	1%


1995	42%	36%


7.  Buy Rancher Votes Inc. is considering building a new beef processing facility.  Building this facility will cost $1,000,000 today and $500,000 one year from today.  The plant’s first cash inflow will be $150,000 two years from today and net cash inflows will grow by 1% per year through 20 years from today (the date of the final cash inflow).  The beta of this new plant is expected to be 0.85.  The risk-free rate of  interest is 4% and the market risk premium is 8%.  What is the minimum annual government subsidy (beginning one year from today and continuing through 20 years from today) that would be required in order for the plant to be worthwhile for Buy to build (assume that the subsidy is risk-free)?


8.  Suppose you own a small firm that is in need of capital.  You don’t want to dilute your ownership by issuing equity so you plan to issue bonds instead.  


a.  What can you do to assure the bondholders who are concerned about conflict of interests between you and them?


b.  What costs does this potential conflict of interest impose on you?





Check Figures:


1.  keys (pts. for discussion):  incr. debt, likely incr. dividends, more high-risk projects, less forgoing pos. NPV projects


2.  EVA => measures economic profit so measures wealth creation by adjusting acctg. numbers to unlever and remove distortions; ROE/ROA/EPS sensitive to acctg. method, reflect costs, easier to  manipulate


3.  not in favor since stock falls from 1,600,000 to 1,572,742


4.  risk reduction benefit to B/H at expense of S/H outweighs benefit to S/H and B/H of positive NPV.


5.  collect information and analyze to identify and exploit mispricing, active trading


6.  1.30175


7.  22,635.58


8.  a. restrictive covenants in indenture, trustee to monitor, convertible debt, higher rate; b. cost of setting up indenture, opportunity costs due to limiting desirable actions, monitoring costs, cost of unresolved conflicts, dilution when convert even if no conflict, higher interest expense.





